fambette.. 1-09001

info@jambette.com

1 877 363-2687 ASSEMBLY PLAN
26/11/2019 Xyr&-35
A.D. CSA+ASTM
[13-4"]
@ 160"
[6-8']
80"

For depht
excavation see
detail A

Protective surfacing

| FF Level of finished ground

Plan view of the product:

‘ Protective surfacing

’ Concrete
b gre




fambette..

L-09001

info@jambette.com

1 877 363-2687

ASSEMBLY PLAN

26/11/2019

Xyr&-35
A-D. CSA+ASTM

Iltem Description Qty. Number
1 Gv. 40" anchoring post 1 014354
2 Spinner with stool and handles 1 *14570
3 3/8*1 Stainless steel carr.bolt 6 40151
4 3/8*1-1/2 Stainless steel carr.bolt 6 40161
5 3/8 Stainless flat washer 6 42470
6 3/8 St/St thin nylon lock nut 6 42811
7 st/st barrel nut 3/8-16*1/2 6 46999
8 XyrA Rubber Flange Protector 2 60513

e p—




	Feuille1
	Vue de mise en plan5
	Vue de mise en plan13
	Vue de mise en plan14

	Feuille2
	Vue de mise en plan8
	Vue de mise en plan9
	Vue de détail D (1 : 6)
	Vue de détail E (1 : 6)


